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# ZETA(
1
2

CZeTa0ee$I % 10K8 by H.E :

for h from
50

100
to

50
100

do for e from 14 C
13472
100000

to 14 C
13473
100000

by
1

100000000

do Z d evalf Re z h Ce$I
2
CIm z h Ce$I

2

1

2
, 10 :if Z ! 10K8

then print ZeTa01 h C evalf e, 10 $I = Z fi:od:od:

ZeTa01 1

2
C I 14.13472513

= 9.307494803 10-9

ZeTa01 1

2
C I 14.13472514

= 1.375890479 10-9

ZeTa01 1

2
C I 14.13472515

= 6.555713859 10-9

for h from
50

100
to

50
100

do for e from 21 C
22039

1000000
to 21 C

22040
1000000

by
1

100000000

do Z d evalf Re z h Ce$I
2
CIm z h Ce$I

2

1

2
, 10 :if Z ! 10K8

then print ZeTa02 h C evalf e, 10 $I = Z fi:od:od:

ZeTa02 1

2
C I 21.02203963

= 9.971846748 10-9

ZeTa02 1

2
C I 21.02203964

= 1.396544325 10-9


